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It is useful to know the maximum displacement response of traditional wooden houses subjected to earthquake motions 

in notification. The maximum displacement responses are calculated in 2 skeleton curves, 3 levels of base shear 

coefficient, and 3 ground properties. The result may be summarized as follows: the maximum displacement with 

unfixed plinth is less or equal than the maximum displacement with fixed plinth in case of the predominant 

displacement at ground floor . The maximum slide displacement is 15cm subjected to earthquake motions in 

notification at the 3
rd

 ground property. 
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